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F ol f(xy) T&40T:
function f(x,y)
if (x>0) and (y>0) then return (f(x-1,y)+f(x, y-1))
else return(x+y)
end function
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10 READ K

20 FORI=1TO 4

30 READ M

40 IF M<K THEN K=M

50 NEXTI

60 PRINT K

70 DATA4,9,2,7,10
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#include <stdio.h>
#include <stdlib.h>
int c=8;
void f1(int *x) { *x+=6; }
void f2(int &x){ x+=4; }
void f3(int x) { c+=x;}
void f4(int x) {x+=10;}
main()
{
int a=10,b=12,d=6;
fl(&a);
f2(b);
f3(c);
fA(d);
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Which of the following sorting methods is not stable?

(A) Insertion sort (B)Bubble sort (C) Quick sort (D) Merge sort
An undirected graph G is a pair (V,E), where V is the vertex set and E is the edge set. Let the degree of a vertex in an

undirected graph be the number of edges incident on it, then Zdegree(v) = (A 2|E-1 (B) 2|E|
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) Relational database management systems are so called because they
(A) relate data in various files through common fields.
(B) are related to file manager.
(C) require relational disks for storing data.
(D) relate security to specific data fields.

) Give arelation R(A,B,C,D,E,F) with the set of functional dependences {A— BCD, D — EF}, we say
(A) R is 2NF(Second Normal Form)
(B) R is 3ANF(Third Normal Form)
(C) Ris BCNF(Boyce-Codd Normal Form)
(D) R is PINF(Project-Join Normal Form)

) The Transport protocol behind web service is
(A) TCP (B) HTTP (C)SMTP (D) UDP
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) Intransmission of data, if the uplink and downlink data rates are identical, then the transmission is symmetric,
otherwise, the transmission is asymmetric. Which of the following whose transmission must be symmetric?
(A)ADSL  (B)GSM (C) Cable Modem (D) GSM

CHER
The greatest common divisor (GCD) of two integers i and j is the largest integer that divides both i and j evenly. For

example, gcd(12,9)=3 and gcd(11,5)=1. Write a recursive function that takes two integers i and j, with i>j, and return

ged(i,j). (4 »)

X is a two-dimensional array. The address of X[4,2] is 1978 and X[2,3] is 1986. Assume it is in a byte machine and each

element of X occupies two bytes.

(1) The array X is row-major, column-major or undecidable?

(2) What is the address of X[3,8]? (4 #)
(3) What is the number of rows in X? (2 4)
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